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Question Booklet Alpha Code

A

Total Number of Questions : 100

Maximum Marks : 100

:
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[ INSTRUCTIONS TO CANDIDATES 1

1 The Cuestion Paper will be given in the torm of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B.C&D.

2 The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

4. i you ammmmdeEdnmnm“tmmmﬂunma ha
Code in the seating position, ;iau!muﬂmmimuhhaiwiguam IMMEDIATELY.

5 The Question Booklet Serial Number is printed on the top in of the facing sheet. If
mmummmnmﬁmﬂﬂam sa?ﬁ"-&
6. The Question Booklet will be sealed at the middle of the ﬂﬂl margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

7. Emnﬂamfaﬁmmmmmmmdm&mmimﬁm,m candidate should check that
the Cuestion Booklet supplied to him/Mher contains all the 100 questions in serial order. The
Guasﬂmammetdmsmthavaunprhmdmmmmim and if so he/she should

torin ﬁmmmﬁMIHWHMQﬂtHWWa booklet with same Alpha

& Question Serial No. 1 to B0 are rinted both in En lish and in Kannada. Doubts
regarding the meaning and tran ation of Question ial No. 1 to 80 will be settled
based on the Questions in English.

o Two blank pages are provided before the last page of this Question Paper for rough

work

10. mﬂuﬂrﬂhmmmmﬂmnmsmm
marking your answers.

1. Eﬂqﬂmhpmmmmdﬁ:ﬁ (C)and (D) having one cofract answer.
cmmmmmmm oormmngm & question number
usmmummmmmmmmm :

12. Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
Mmmmmwumwnm.

13, No candidate will be allowed to leave the axamination hall till the end of the session and
without handing over his/her Answar Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

14. Strict compliance of instructions is essential. Any malpractice or attempt 10 commit any
kind of malpractice in the Examination wil result in the disqualification of the candidate.
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1. Which of the following leaders signed The Atlantic Charter on 14" August 1941 ?
A) F. D. Roosevelt and Joseph Stalin B) Joseph Stalin and Winston Churchill
C) Joseph Stalin and Woodrow Wilson D) F. D. Roosevelt and Winston Churchill

2. Name the leader of the Russian Revolution of 1905,

A) Alexander Kerensky B) Father Gapon

C) Father Rasputin D) George Lvov
3. Who introduced annual budget system called Pativukanakku for the first time in

Travancore 7

A} Vira Udaya Marthanda Varma (1314-1344)

B) Rama Varma (1721-1729)

C) Marthanda Varma (1729-1758)

D) Karthika Tirunal Rama Varma (1758-1798)
4. Which of the followin

of Tirunelveli 7

A) Nilakanda Brahmachari
C) Vakkom Khadar

3. Inwhich of the following place Pa
of Quit India Movement 7

g revolutionary leader assassinated Mr. Ashe, British Collector

B) Chembakaraman Pillaj
D) Vanchi lyer

rallel Government was established during the period

A) Bardoli B) Ballia C) Bhavnagar D) Nagpur

6. British Prime Minister Liz Truss belonged to which of the following Political Party 7
A) Labour Party B) Democratic
C) Conservative Party D) British Socialist Party

II.. The NIFE layer is in mantle.
HI. The upper mantle is in molten stage.

A) Only | and Ii B) Only llandill  C) Onlylandiil D) All of the above

8. Which of the following statement Is/are correct about the warm currents 7
|. Gulf stream current, Canaries current.

Il. Agulhas current, Owashio current.
Ill. Kuroshio current, Brazilian current.

A) Only | and I| B) Only lland il C) Only Il D) All of the above

8. Which of the following statement is/are correct about the Karewas formﬂiih?
I. Himachal and Uttaranchal Himalaya. ol

HI."Kashmir or North Western Himalaya. o
Il. Darjiling and Sikkim Himalaya. -
A) Only | B) Only Il C) Only D) All of the above
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10. Which one of the following statement is/are correct about the Sun Synchronous

Saltellites 7
I. Altitude between 700-900 km.
Il. Orbital period 24 hours.
lll. Earth resources applications.
A) Only | and Il B) Onlyliand Il C) Only | and Il D) All of the above
11. Which of the following statement is/are correct about the fine grains in India ?
|. Jowar, Bajra.
Il. Maize, Ragi.
lll. Rice, Wheat.
A) Only | B) Only | and Il C) Only | and Il D) Only Il
12. Which one of the following statement is/are correct about the western boundary of
the Ukraine ?

|. Sweden, Germany.
Il. Norway, Switzerland.

lll. Belarus, Polland.
A) Only | B) Only Il C) Only Il D) All of the above
13. Who will exercise veto power over all the key aspects of GST including rales ?
' A) President B) Prime Minister
C) Union Finance Minister D) Chief Minister

14. A specialised money market institution in India which has been established with the
objective of providing liquidity to money market instruments
A) DFHI B) NBFls
C) Central bank D) Acceptance houses

15. Which of the following statement about NITI Aayog is not correct ?
A) It serves in spirit of co-operative federalism
B) It used a bottom-up approach
C) It is an advisory think tank
D) It had powers to allocate funds to Ministers and State Government

16. The effect of direct tax is on
A) Price of goods B) Capital goods C) Consumer goods D) Income

17. Who initiated open economy system in Indian economy 7

A} I G. Patel B) Manmohan Singh

C) Pranab Mukerjee D) P.V. Narasimha Rao
18. Who was the founder of Evergreen Revolution in India ?

A} Norman E. Borlaug B) M. S. Swaminathan

C) T. W. Schultz D) Keith Griffin
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19. President of India has to act on the aid and advice of

20.

21.

22.

23.

26.

27,

A) Council of Ministers
B) Council of Ministers with Prime Minister
C) Supreme Court of India

D) Speaker
Fundamental Rights are discussed under which Part of the Indian Constitution 7
A) Part=| B) Part-|l C) Part - D) Part -1V

Right to education is inserted under Fundamental Rights by which Constitutional
Amendments ?

A) 104" Constitutional Amendment Act, 2019

B) 92" Constitutional Amendment Act. 2003

C) 88" Constitutional Amendment Act, 2002

D) 101* Constitutional Amendment Act, 2016

Article 15 of Indian Constitution deals with the prohibition of discrimination on
grounds of

A) religion, race, caste, sex or place of birth

B) religion, race, caste, sex, place of birth or residence

C) religion, race and caste

D) religion, race, caste and sex

73" and 74" Constitutional amendments refer o

A) Co-operative Societies B) Panchayats and Municipalities
C) Reservation D} Arrest and Detention

Public Interest Litigation can be filed in

A) The High Court B) The Supreme Court

C) Both Supreme Court and High Court D) District Court

Union list in 7 Schedule of the Constitution includes which of the following 7
A} Arms, Firearms, Ammunition and Explosives

B) Fisheries

C) Public Health and Sanitation

D) Education

How many official languages are recognised under 8" Schedule of the Indian
Constitution 7

A) 12 B) 15 C) 16 D) 22
Where is the seat of International Court of Justice ?
A) Hague B) MNew York C) Washington D) Paris

5
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28. Which of the following statements regarding Article 323 A is/are true 7
. It deals with the Constitution of Administrative Tribunals,

A) Only ii B) All the above |, ii and ji
C) Only i and iij D) Only iii and i

28. Principle of non-stigmatising semantics means

A) There shall be no discrimination against a child on any grounds including sex, caste
ethnicity

C) Any child shall be Presumed to be an innocent of any mala fide or criminal intent ug
to the age of eighteen years.

D) All past records of any child under the Juvenile Justice system should be erased
except in special circumstances.

30. Which one of the following pillars is ‘not'included in ‘The Export Preparedness Index
2020° prepared by NITI Ayog 7
A) Political System B) Business Ecosystem
C) Export Ecosystem D) Expon Performance

31. The principle of natural justice ; ‘Nemg judex in causa sua’ means
A} To hear the other party or no one should be condemned unheard

32. Which Article says that all laws in force in the temitory of India.... in =g far as they
are inconsistent with the provisions of the Part I, shall, to the extent of such

inconsistency, be void ?

A) Article 13 B) Aricle 32 C) Article 14 D) Article 22
33. Name the digital learning Platform for M NREGS.,
A} e-Pramaan B) NeGP C) Swan D) e-Saksham

A) Only i B) Only iii and jv
C) Only iy D) Only iii and jj
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35. Maitch the following : y
P. Lead Poisoning T. Transverse Myelitis
Q. Mercury Poisoning U. “ltai-lta" disease
R. Cadmium Poisoning V. Mees’ Lines
S. Arsenic Poisoning W. Impairment of learning process
X, Alzheimer's disease
Y. "Mad Hatter" syndrome
A) P-X, Q-V, R-U, 5-Y B) P-W, Q-Y, R-U, 5-V
C) P-w, Q-U, B-T, S-V D) P-X, Q-V, R-T, S-Y
36. From the given list of statements, choose the incorrect statement :
i, Approximately 25% of polio cases proceed to paralytic disease.
ii. In general, the paralysis caused by polio is more commeon in the lower part of the
body.
iii. The transmission of polio is generally through the faecal-oral route.
iv. Pharyngeal spread is more important in epidemic poliomyelitis where sanitation is
good.
A) Only iii B) Only i C) Both iii and iv D) Bath ii and iii
37. Which of the following is not a salient feature of the Aardram Mission launched Dy
the Government of Kerala ¥
A) Re-engineering of Primary Health Centres to Family Health Centres
B) People friendly out patient services
C) Access to basic health services for backward tribal communities
D) Superspeciality services in taluk hospitals
38. Zika Virus disease was first identified in {country) in 1947. It was however
first reported in Kerala on 8™ July 2021 from district.
A) Uganda, Thiruvananthapuram B) Sierra Leone, Emakulam
C) Sierra Leone, Thiruvananthapuram D) Burundi, Ernakulam
389. When a force is applied on a moving body, its motion is retarded, then the work
done is
A) Positive B) MNegative
C) Zero D) Paositive and negative
40. If both mass and radius of the earth decreases by 1% then
A) Acceleration due to gravity would increase
B) Escape velocity would increase 5
C) Acceleration due to gravity would decrease
D) Escape velocity would decrease
41. The number of images observable between two parallel plane mirrors is
A) 2 B) 4 C) 11 D) Infinite
A -10-
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42,

43,

45.

47.

49,

50.

.

a2.

Current director of Satish Dhawan Space Centre, Shriharikota is '
A) 5. Somanath B) S. Pandian C) A. Rajarajan D) P. Kunhikrishnan

The following graph illustrates :

R

g W ——

A) Charle's law B) Boyle's law

C) Dalton's law D) Avogadro’s law

Which of the following statements is true about ideal solutions ?

A) The volume of mixing is zero B) The enthalpy of mixing is zero l
C) Both A) and B) D) MNone of these

Mitrogen does not form NCI, while phosphorous forms PCI,. It is due to

A) Availability of vacant d-orbitals in P but not in N

B) Lower electronegativity of P than N

C) Lower tendency of N to form covalent bond

D) Occurrence of P in solid state while N in gaseous state at room temperature

The Maobel Prize in Chemistry for the year 2021 was jointly awarded to Benjamin List
and David MacMillan for their work in

A) The development of a method for genome editing

B) The development of lithium-ion batteries

C) The phage display of peptides and antibodies

D) The development of asymmetric organocatalysis

mwmmuma is from which State 7

A} Manipur B) Assam C) Uttar Pradesh D) Andhra Pradesh
Which literary work belongs to classical Sanskrit literature ?

A) Vedas B) Dhammapada C) Dighanikaya D) Meghadutam
Which terms are used to describe parts of a cricket bat 7

A) Eye and Toe B) Leg and Hand

C) Shoulders and Toe D) Meck and Shoulders i
How many team members are present in each team of a handball game ?

A) T B) 5 C) 6 D) 8

The value of (50012 — (4999)¢ is

A) 20000 B) 10000 C) 50000 D) Mone of these
How many terminating zeros in 1 x2x 3 x ... x 100 7

A) 10 B) 11 C) 21 D) 24

RT3
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53.

54,

57.

59.

60.

61.

62,

What is the sum of 51 consecutive even numbers if the middle term is 212 7
A) 10812 B) 10600 C) 10812 D) None of these

If a car moves along a straight line from A to B with a speed of 60 km/h and return
back B to A with a speed of 40 km/h. Then the average speed is
A) 44 B) 48 C) 50 D) None of these
Lol A Y T EE +...+1m‘9¢
100
119 +319 +519+___+991E

B= and
50

219 + 4% 4 8" 4 ... +100"
= !

Then which of the following is true 7
A) A<B=C B) C<B<A C)C<A<B D) MNone of these

It 17 August, 1998 was Monday, what was the day of the week on 12" August,
1994 7
A) Sunday B) Wednesday C) Tuesday D) Friday

Select the pair in which the letter groups are similarly related as the pair
LOWER : WORLE

=

A) GLAZE : AGELZ B) AMONG : OMNAG

C) WORDS : ROSWD D) ENTRY : RNYET

How many times are the hands of a clock at right angle in a day ?

A) 22 B) 24 C) 44 D) 48
Find the odd man out : 111, 133, 143, 155, 188, 200.

A) 111 B) 143 C) 200 D) None of these

If a man were to sell his chair for As. 720, he would lose 25%. To gain 25%, he
should sell it for

A} Rs. 1,200 B) Rs. 1,000 C) Rs. 960 D) As. 900

Maximum number of Good Conduct Stripes that can be worn by Assistant Prison
Officer/Deputy Prison Officer.

A) 4 B) 2 cC)3 D) None of the above

Who can post Assistant Prison Officers on Temporary Basis with the prior parmission
of the Government 7

A) Deputy Inspector General of Prisons

B) Director General of Prisons and Correctional Services

C) Chief Welfare Officer

D) Mone of the above

-14-
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83. Head of the Assistant Prizon Officers

64,

67.

70,

1.

A) Prison Officer B) Welfare Officer
C) Deputy Superintendent D) Joint Superintendent

Released female Prisoners who need not be provided transportation facilities to
travel back to home

A) Those who have to travel less than 8 km

B) Those who have to travel less than 2.5 km

C) Those who have to travel less than 1.6 km

D) Mone of the above

- High Security Prison in Kerala is situated at

A) Kannur B) Viyyur
C) Thiruvananthapuram D} Keozhikode
- The Prisoners lodged in Central Prisons are not eligible for
A) Ordinary Parole B) Emergency Parole
C) Home leave D) None of the above

The Prisoners whe are not eligible for travel time during parole
A) Those who have to travel less than 16 km

B} Those who have to travel less than 21 km

C) Those who have to travel less than 27 km

D) Those who have to travel less than 32 km

Who is the Chairman of the committee which reconsiders the cases of the Convicts
who are not eligible for parole owing to adverse police reports 7

A) District Judge

B) Director General of Prisons and Correctional Services

C) District Collector

D) District Police Chief
Number of Open Prisons in Kerala

A) 3 B) 2 C) 4 D) 1
The Officer In-Charge of various Office Sections in Jails

A) Assistant Prison Officer B) Prison Officer

C) Assistant Superintendenis D) None of the above

Maximum number of days that can be granted as Ordinary Leave in a Calendar
year
A) 30 B) 60 C) 15 D) 45

The autharity to grant first Ordinary Leave

A) Director General of Prisons and Correctional Services
B) Chief Welfare Officer

C) The Government

D) The Superintendent
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73.

74,

75.

786.

.

79.

. Choose the most appropriate answer after reading the following facts :

The Oldest Jail in Kerala

A) District Jail Kasargod B) District Jail Kozhikode

C) District Jail Thiruvananthapuram D) District Jail Viyyur

Number of Open Prisons for Women in Kerala

A) 1 B) 3 C) 2 D) MNone
First Inspector General of Prisons of Kerala

A) Sri. Padmagireeshwaran Mair B) Sri. John Mathai

C) Sri. A. V. John D) Nene of the above

The Prisoners who could be lodged in District Jails

A) Those who were sentenced for less than & months imprisonment
B) Those who were sentenced for more than & months imprisonment
C) Those who were sentenced for more than 1 year imprisonment

D) None of the above

The document that has 1o be returned to the court concermed after execution of
sentence

A) Remission sheet B} Nominal Roll

C) Warrant D) Judgement Copy

A sentence of imprisonment for life for an offence for which death is one of the
punishment provided, shall not be released until completion of
A) 12 years B) 8 years C) 20 years D) 14 years

wmmﬁmuhmwmﬁmmnmmmmﬂmuﬂmmaﬂmnﬁngm
mﬁMUmhIMTWMM?
iﬂhdmndmmwmnhwmmisnmwithm
the consent of the person concerned.
i Tmnsmmdapicmmmaparmnmrﬁm
ii. Dishmwunfpasswnrdufanypumm. ;
iv. Hacking with computer system, g
A) Only iii and iv B) Only ii and iv
C) All of the above except | D) Al of the above except ii

Athul, a B.Tech. student had a break-up with his girlfriend Namrata, Thereafter, he
deletes his pictures and messages from Namrata's phone and laptop without her
knowledge or consent. Which offence under the Information Technology Act, 2000
would be most likely be framed against Athul in the event of Namrata taking legal
action against him ?

A} Athul has not committed any offence under the Information Technology Act, 2000
B) Breach of confidentiality and Privacy under Sec. 72

C) Damage to computer, computer system, etc under Sec. 43

D} Viclation of Privacy under Sec. 66 E
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B1.

82.

85.

g

Fill in the blanks with proper question tag.

Don't forget it
A) doit ? B) don'tit? C) will you 7 D) da they 7

Fill up using the appropriate verbal form from the following choices.
He is renovating his house with a view o it.

A) sell B) selling C) sold D) sells
Choose the correct answer -

| don't even know what Ouija board is.

A) an B) a C) the D) some

. Which out of the following words is a countable noun 7

A) footwear B) scenery C) fun D) poem

Which of the following is a complex sentence 7

A) The box is too heavy to carry

B) The box is very heavy and hence he cannot carry it
C) The box is so heavy that he cannot carry

D) The box is very heavy

Inebriate means

A) One who pretends to be what he is not

B} A drunken person

C) One who lives at the expense of the society
D) Ap&mmmahasnumﬂmmm‘

Sine qua non the foreign phrase means

A) prerequisite B) sinceraly C) indefinitely D) non-refundabile
mmmmmmwmupum.

Half of

A) my friend lives abroad B) my friend is living abroad

C) my friend living abroad D) my friends live abroad

Choose the comrect passive voice of the following sentence.

Did she type the passage 7

A} Whether the Passage was typed by her 7
B) Was the passage typed by her 7

C) Were the passage typed by her 7

D) Are the passage typed by her 7

Identify the meaning of the phrase in italics,

He is at loggerheads with his many friends.

A) at strife B} in close contact with
C) away from D) discussing
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TG, VET Sunvd 30T B ciRgioh 7
A) ghas B) =huom C) erix D) &z

81 S000F e, Ihﬂ:?.ﬁ?ﬁmm‘ﬁg_\ e b uﬁrﬁnmrmzﬁdgﬂ wRgch ?
A) EEpeboines ﬂ:ﬁqu@zﬂm Ll RDOWD ma Sl indy
B) wiaebond Smmadudde: mmh wind m e ledey
C) wireboh SxngSudae: nwm muowd naddbece fedy
D) wredoh Smmadnse epm Roowd nStddne indy

S&armmmmaTm:FmﬂﬂmmFaﬂm~ﬂddﬁﬁmdan?
A) wmnde Sdeidnd Sidbmu: SmEdh we

B) Fvech Ioemdi shabmu : St me

C) qmmH:mwmu

D) smciebs Ddoditnd shabemu : Seashme

Sgm Yot Tose ot wiiorh - &1 HET Sede SO0 cing S wd ?
A) Zdecd Ingd B) Qe o C) u@r gl D) oo ok

Forxehnedh word
A) mRedd B) Zrfec: C) xdfneds D) sxazech
e - aod QOREE T
A) Lrag B) udiwme C) ome D) ﬂhzn::-rF
R vuodd... ®n meth - & g RRER: Zedriean,
A) shad B) wx&d C) ran D) Log
Concurrence — 2ot T 852 Jomd 2 cdnaged 9
A) TEbh2 B) amshs C) emis D) s

. eRTmEF Soedmhihs iund cdngich 9
A) egioie yna B) qr,aq‘ C) do1m D) waEbick

100. REbTHabY - 2O Asdor R T3 b robssd.

A) Sefche B) mone C) e D) wer
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